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The sum required to earn a monthly interest of 1,200 at
18% per annum simple interest is:
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A sum of money doubles itself in 10 years under simple interest.
The number of years it would take to quadruple itself is:
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A sum of money amounts to X7500 in 5 years and X9000 in 8 years
under simple interest. What is the(simple rate ]of interest per
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The compound interest on 40,000 at 12% per annum
compounded quarterly for(6 months is
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At a certain rate of interest per annum, the difference between the
compound interest and simple interest on X3,00,000 for two years is

X480. Then the rate of interest per annum is:
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The difference between C.l. and S.I. on a certain sum of money

invested forj§ years&atp.a is 110.16. The principal is: y
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QUESTION

The effective rate of interest corresponding to a nominal rate of 7%
p.a. convertible quarterly is:
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Theandldeath ratesiper 1,000 are 19.4 and 9.4

respectively. The number of years in which the population will be
doubled assuming there is no immigration or emigration is:
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